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Solve the following linear equation
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® x— =0 > BH D x—9=0
X =5
@ xd+6=0 5 P" |@x+3=0
X =—b6
@ 5x=0 ® 6x=0
— 5
x=0

@ 3x—9=0

® 3(x+2)=0
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x+3 =0 v

x =—3
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Solve the following quadratic equation
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DO (x—1)(x—2)=0

DO (x—3)(x—4)=0

@ (x+7)(x+8)=0

x=—9 (% &)

@ (x+10)2=0

@ 4(x—5)(x—6)=0

@ 7(x—8)(x—9)=0

x =5, 6
® x(x—1)=0 ® x(x—2)=0
x=0, 7

® 5x(x+6)=0
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Remove the parentheses
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© x(x +2) D x(x +3)
= x'+2 x

@ (x+1)(x+5)

=x2+(1+5)x+1x5

= X'+6 X +5

@ (x+1)(x+3)

@ (x—2)(x—1)

= a2 +(—2-1) x + (-2)x(—1)

= x'—3x +2

@ (x—2)(x—5)

@ (x+2)(x—2)
=22 +(2-2)x+ 2x(-2)

= x° —4

@ (x+3)(x—3)

® (x —2)°

= Xx'—4 x +4

=2 +(—2-2) x +(—2) x (—2)

® (x —3)
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Solve the following quadratic equation
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DO x2+5x=0 DO x>+4x=0
x(x+5) =0
X =0 , —5

@ x> +5x+4=0

(x+7) (x+4 )=0

X=—7 , —4

@ x>+ 4x+3=0

®x2+6x+9=0

@ x2+2x+1=0

(x+3)*=0
r—s (%)
@ x> —49=0 @ x> —16=0
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® x—p=o0 7 BH D x—6=0
x =7
@ xd-3=0 2P |@x+4=0
x =—3
® 2x=0 ® 4x=0
- 2
x =0 v

@ 3x—6=0

2x=¢
- 2

x =4 ¥

® 3(x—2)=0- ® 2(x—3)=0
+— 3

x —2 =0 -

x =2
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DO (x—7)(x—2)=0

DO (x—6)(x—3)=0

@ (x+3)(x+2)=0

x=—-3 , —2

@ (x+4)(x+6)=0

@ (x+5)2=0
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x=—5 (& &)

@ (x+6)°=0

@ 3(x—2)(x—1)=0

x =2 , 7

@ 2(x—3)(x—4)=0

® x(x+8)=0

® x(x+1)=0

® 3x(x+4)=0
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= X'+ x
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© x(x + 8) ® x(x +6)

@ (x+1)(x+7)

=x22+(1+7x+1x7

= X'+8§ x+7

@ (x+1)(x+5)

® (x—3)(x —5)

=2 +(—3-5) x + (—3)x(—5)

= x'—7 x +75

@ (x—2)(x—4)

@ (x+8)(x —8)

=22 +(8-8x+ 8x(—9

@ (x+6)(x—686)

= x2 — 64
® (x +4)> ® (x + 3)2
=2 +(4+4)x+ 4%x4
=x’ +& X +76
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DO x2+4x=0 D x2+3x=0

x(x+4) =0

X =0 , —4

@ x> +4x+3=0

(x+7) (x+3)=0

@ x2+3x+2=0

® x2—10x +25=0

(x—2)%=0
v= [§H)
@ x>2—4=0 @ x2—25=0
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O x& =0 2 PH D x—3=0
x =2
)7 w9
@ xd =0 *+ BH @ x+1=0
X =—4
® 3x=0 ® 5x=0
+ 3
x=0

@ 2x—6=0

® 3(x—4)=0-
=N
x@ZO )
%

x =4

® 2(x—1)=0
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DO (x—1)(x—4)=0

DO (x—2)(x—5)=0

@ (x+2)(x+9)=0

X =-—2 —9

@ (x+1)(x+8)=0

@ (x—7)2=0
x=r (% %)

@ (x—2)°=0

@ 3(x—2)(x—4)=0

@ 5(x—3)(x—6)=0

x =2 , ¥4
® x(x—5)=0 ® x(x—3)=0
x=0, 5

® 3x(x+6)=0
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= x’+70 x

{51 18 i
© % (x + 10) © x(x + 12)

@ (x+1)(x+9)

=x2+(1+9x+1x9

= X470 x +9

@ (x+3)(x+9)

@ (x —4)(x —86)

=22 +(—4-6) x + (—4)x(-6)

= Xx'—70 x +24

@ (x—2)(x—4)

@ (x+5)(x —5)
=22 +(5-5)x+ 5x(—5)

= x? —25

@ (x+6)(x—686)

® (x +5)>°

=22 +(B+5)x+ 5%x5

=x’ +70 x +25

® (x+6)
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D x>2—-8x=0 D x> —6x =

x(x—¢)=0

X =0 , ¢

@ x2—-8x+6=0
(x—2) (x—6)=0

XxX=2 , 6

@ x>—6x+8=0

® x> —-8x+16=0

® x2—6x+9=0

(x—4)?=0
x =4 (3%
@ x> —16=0 @ x2—9=0




